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E =N
At =
3
<R —)V L
WIS~ R— L T 1 R
FHATHE e~ A —/L L 15KE 1 K
W1 B~y h— T 1 K
NEIE R E T 1 K
ST E8+T
HufH i — 83 No.1
HREI T\ D) 4.72 4.72 4.7 of
Hufh i — 83 No.1
HAMERT 40 2.71 2.71 2.7 of
HufH i — 83 No.1
FAE LB 4.72 4.72 4.7 ol
BAET fART
HufH i — 83 No.1
TkFvry 7 D125 11 11 11 1@
A EAT R R QS BUA T| EREEFIT 11 &85




B

I

MHET SESET

BUWRATHRER R —EE B —E RNl

SHAEARYIWT  (t=15cm) 216.20 + 80.60 + 15.30 = 312.10 312.1
BELERR I (15 <t=30cm) | B IEA Y B3R 12.6

FIRAMR—ER Mg —ER BUHE — R RNl

A R PR 108.70 + 17.16 + 5.75 131.61 131.6
TR —EE  MokE R —mE B — RNl
AsBOERLER 5.97 + 0.86 + 0.29 7.12 7.1




G

I

AT ERERT

[iEBCRCESY)

BiRARR &R

TE AR mAEYIR30cm 39.34 39.3
TIE (B%k)

A mekmmeien] FEOICIAIT 39.3
TIHE (B%)

xKg Bk dem| FEICFIT 39.3
H E% B (BhE) MEHE K S i —E R BUHE —E RNl

TR maumoen|  15.32 + 5.75 21.07 21.1
B %I (Bh2k)

A mekmieen] FEOICIAIT 21.1
B %I (Bh2k)

xKE SR dem| FEICFEIT 21.1




G

I

AT ERERT

V8 (BE)
TE A A #ssem

IR TR
5.99

6.0

IRLTE (HE5HE)
b mesa2em

FitizlEL

6.0

VLiE (HE)
xJE AAEBRTen| EERICFEIL 6.0
VLI (BE—%) BIRAR R

T4VE—J8 FAERD10cm

30.88

30.9

IRTE (A5E— %)

AR FE IR 0cm| FELICIRIL 30.9
IRTE (HE— %

B FAESp4em| EERICIEIL 30.9
IRTE (AEFN) BRI —ER

it FESIR2Tem|  32.49 32.5
IRTE (AEFN)

xKg Bk Sem| FEICFIT 32.5




B

I

TH L HPAET
@100

Hepe kB i —E# (A)

JREITON Y ERY) 8.63 8.6 nf
MeE AR E 5% (B)
FAETHMRT AN 0.12 0.1 of
MEHE K G fiRR — a3
FAWRT AN 1.75 1.8 i
MEHE K S fiRR — a3
FAE - LE 7.40 7.4 ol
MEHE K G iR — 3
B e = VR E 39.15 39.2 m
HRET 0.32 X 2.00 2 = 1.28 1.3 of
o) —h L 0.32 X 0.32
0.12 X 0.12 3.14 / 4.00
= 0.091 m2 0.091 X 2.00 = 0.2 of
oS et 0.300 X 4 2.00 2.4 of




i = .
T FEABT
SRR SAET00  PIEE400 1 &
AR L5y SEET00  PREE400 3 A
SEOKPHHIfLE PEbeE il HEE © 100 3 f&FT
ST #HEHRET

& T

T IEHERAL Y 0.156 X 2 0.312 0.3 m
FHT RET
IR L 1 K
T < a—VL
IV e A s 2 W < =7 | =g 1 X




~ v K — v L

|

L

i

~vh—V L HSNEH~rF—

AMLEKR AR

2 M

FHEEYL S 600X h100

#H

YL 600X h150

BIBE7 nyy (F5) ¢ 600 X 900 X h450

AEE7 0y (FEH)

¢ 600 X900 Xh600

WRER7 8y (FEM) 6 900 X h900

WRIK7 ey (FEM) ¢ 900 X h1200

BB T (M H) e JERE20em, AT 0y) AV~ — M 1

FANZ A~ AR—/VERTE 2mPL T

13

#SCAEM ~ A —/VHILE HEiE i HeE © 200

=13

1 f&pT



Wi
T

2
< =L EE=ri—1L
IRl R —VERET  |h=2.0mPLF 2 fBipT
I AR — LR T |h=2.0m#E3.5mPA F 1 &P

P57z ¢ 300 T-14 (BhELEL aEme M BHEGA) 2
P57z ¢ 300 T-25 (fEELEL aEme M BHEGA) 1 M

< vih—)VLT R 1F~vHR—v

FSL 1B~ AR —VHIL S BEeE A HRE T © 200 3 f&ipT




I

~ vk — v T E

3
< vA—/NT NEIERETLT
B B it T (B 1. 5mPA_F~2.0m A i) 2 f&pT
N IS B A (B 752.0mBL - ~2.5m A i) 1 fHpr
AV LBINEIE MR TAR) 3 fH
A LBINEIE I SECE BIE & AN =hE b HkF
& 150X2000 1.80 —( 0.10 + 0.28 + 0.07 ) = 1.35
& & AN =g b & HkF
.70 —( 0.10 + 0.28 + 0.07 ) = 1.25
BIIE & AN =g b HkF
2.07 —( 0.10 + 0.28 + 0.07 ) = 1.62 3 M
ZY LT )LR ¢ 150X 150 3 fE
B E HEE SR (SUSHY 2+ 2+ 3 = 7 7 A
T < rR—NT He<wrik—
Il R— VBT |h=2.0mLL F 2 f&pr
P57z ¢ 300 T-25 (fhELEL aEme M BHEGA) 2 M




,/_ré;; 7% /T'ﬁ g& . %i 2% NO. 1
(¢ 200 _mm UIPARE A=A 52 8 mn
H H H Y H.
T I Rl il Bl L I P I B + T ~ + i
v | gk S i ] B L g R
R B[ oA iE & & i 15 | Hl R IR VR 5 VR AR — VR AR e A Pt R #
| ¥ i . * % W’g L N N R P PR [P SOOR) ) P ORI 0nY T ) ISR P ) ) L I SRAGHH | WA | ISR | TARSEHS | R | R | K | RRRER | RRRR
& VIt il i A 0 E | % HAE S I 1 1 1 e mmen| EEAT || w mm | B M | B M | B AR | 0UEIE | EIE | IR | BIBE R | BITER | 4E
(A i & #E [ 0.28nf | 0.28nd | 0.28n | 0.28nt 5 5 5 B Ak (B-38)-80| (B-10)-20| (B-27)-27[ (B-30)-51| 4 3 7 t=15cm [15<t=30cm
gl o8 lew| ow £ e g | & [nwamben sbenm (e oo | S0t | AT SRR REL | SAE | AT ) SAE | R | AT | SAE ) REL | REE) sl o | o | o | Ll am e | | oan | e =
NO. NO. m m m m m m m m m m m m m m m m m m m m m m m m m m m m m m m m m m m n m m m m m
152-2 | 1.69 22.00 (0. 95) (0.48)| (0.29) (0. 359) (0.95) | (0.95) SESex 2 SEJex 2 TV RAR
152 | 152-3 | 1.84 | 1.77 22.00 [22.00 | 0.90 21.10 35. 95 10.53 6. 27 7.90 | 24.70 20.90 | 20.90 44. 00 22. 00 2.0
152-3 | 1.86 19..10 (0. 95) 0.63)| (0.27) (0. 359) (0.95) | (0.95) SESex 2 SEJex 2 TV KRR
152 | 152-4 | 1.99 [1.93 19.10 |19.10 | 0.60 18. 50 34.11 12.05 5.19 6.86 | 24.10 18.15 | 18.15 38. 20 19. 10 2.5
152-4 | 1,99 2.30 (0. 95) (0.95) | (0.07) | (0.53) | (0.12) 0.74)| (0.17)| (0. 12)] (0. 359) (0. 95) (0.95) | (0.95) (0. 95) | sEsex 2 HEFk 2 TV KRR
152 |maise-1-1] 2.09 | 2.04 | 2.00 0.30 | 2.30 | 0.60 1.70 3.52 0.57 0.14 1. 06 0.24 0.22 0.05 0.04 | 0.83] 2.58 1.90 0.29 | 0.29 1.90 0. 60 4.00 2.30 2.5
152-1-1 1. 80 46. 40 (0.95) | (0.95) (1.15) | (0.04) (0.05)| (0.95)[ (0.19)| (0.05) (0. 359) (0.95) | (0.95) (0.95) | (0.95) HEFk 2 HEFk 2 TV RAR
152-1 [ 152-1-2 | 2.13 | 1.97 19.60 |26.80 46.40 | 0.60 45. 80 35.94 | 48.88 22. 60 0.86 1.01 | 25.56 4.99 1.37 16.66 | 73.05 18.62 | 25.46 18.62 | 25.46 92. 80 46. 40 2.5
152-1-2 | 2.13 3.30 (0.95) | (0.95) 0.33) | (0.72) | (0.41) | (1.20) 0.14)| (0.10) (0. 359) (0.95) | (0.95) (0. 95) (0. 95) | sEsex 2 HEFk 2 T2 RAR
152-1 [mearise11] 2.19 | 2.16 | 1.60 [ 1.70 3.30 | 0.60 2.70 | 0.80 [ 2.99 | 3.42 0.53 1.15 0.65 2.03 0.23 0.16 1.18 | 5.93 1.52 1.62 1.62 1.52 3.40 3.20 3.30 2.5
152-2-1|.1.75 18..00 (0.95) | (0.95) (0.97)| (0.10) 0.77)| (0.24) (0. 359) (0.95) | (0.95) (0.95) | (0.95) HEFx 2 SEJx 2 TV R
152-2 | 152-2-2| 1.80 | 1.78 11.20 | 6.80 18.00 | 0.60 17. 40 18.51 | 11.18 10. 90 1. 06 5.26 1.62 6.46 | 25.30 10. 64 6. 46 10.64 | 6.46 36. 00 18. 00 2.0
152-2-2| 1. 80 3..30 (0. 95) (0. 95) (0. 88) (0.80) | (0.24) (0. 359) (0. 95) (0. 95) (0.95) | (0.95) | s 2 SESex 2 TV R
152-2 [meawise1-1] 1.82 | 1.81 | 2.70 0. 60 3.30 | 0.60 2.70 | 0.80 [ 2.92 1. 00 2.37 0.48 0.14 1.18 | 4.17 2.57 0.57 0.57 | 2.57 1.20 5. 40 3.30 2.5
1.5m| HFHEL AL
TR1E, 40..00 TIR1E,
2. 0m| 7L 3 AR 11.20] 6.80] 22.00] 40.00| 1.50 38.50 18.51 | 11.18 | 35.95 10. 90 1. 06 5.26 1.62 10.53 6.27 14.36 | 50. 00 10. 64 6.46 | 20.90 [31.54 | 6.46 80. 00 40. 00 2. 0m
STIR1E, 68. 80 STIR1E,
2.5m| 7L 3 R 2.70] 19.60| 27.40[ 19.10| 68.80| 1.80 67.00] 0.80] 2.92 | 35.94 | 49.88 | 34.11 2.37 22. 60 0. 86 26. 04 5.13 1.37 | 12.05 5.19 24.70 [101.32 2.57 | 18.62 | 26.03 | 18.15 |36.77 |26.03 [ 2.57 | 132.20 5. 40 68. 80 2. 5m
IR2B 5..60 IR2B,
2.5m| 7L 3 EHR 3.60] 1.70 0.30] 5.60] 1.20 4.40] 0.80] 6.51 | 3.42 0.57 0. 67 2.21 0.89 2.03 0.23 0.16 0.22 0.05 0.04 | 2.01 | 851 3.42 1.62 0.29 | 1.91 3.42 | 4.00 7.20 5. 60 2. 5m
A1+A2+A3+A4=A A= 198. 99 i [ O 5 4em 5cm 19cm R ASTR G B
B1+B2+B3+B4=B [D1=D B 90. 30 D= 0.23 |a=1.25[B*a =b|Dka=d| b=  112.88 d= 0.29 A-b-c-d-e
C1+C2+C3+C4=C _[E1+E2+E3+E4=E c= 24.76 E= 2,46 |p=1.11|CxB=c|ExB=e| c= 27.48 e= 2.74 1.24nd|  3.59nf| 1.14nd 108. 70nt 5.97m% 55. 601t
RZS}7S 114. 4m Al A2 A3 A B1 C1 El B2 c2 D1 E2 B3 c3 E3 B4 c4 E4 h A
Z} 7T 1.92m| 6.3m| 32 5m| 34.2m| 41 4m{114. 4n| 4. 5m| 109.9m| 1.6m| 9.43nf|57. 87ni|61. 06ni[70.63nf) 0.67ni| 4. 58nf] 0.89ni|35 53nf] 1.92ni| 0.23nf] 0.16ni[31.30nf] 6. 75ni| 1.37nf)22.80ni[11. 51nf] 0.04ni[41. 07nf]159.83nf 5.99nf| 30.88nf| 32.49nf| 39. 34nf|70. 22nf |32 4907] 5. 99nf| 216.20m | 12.60m_|114. 40nf




BELT (TE &ED)
<" —/)LNo H W 1
152-2 ~ 152-3  ¥EEE = 1.77 m PEEME = 0.95 m
L
. JER = 22.00 m
BRGHEE =005 gl
BEERRRAEHT 1=0.30 950 BAEBTHEAS dem
. = 0.804
T T 40 0 — BYARRE 2icm
550 300 BYEYIARR 30cm I 0.504
v L Sesess WAt
H a R8N~ b= 030
h
300 | b B RS (RET) c =
N N EHO—>EH
100 seedl BEYARE _
416 | 216 s @ \ d
100 o I IEEEE B200mm
- N BYEYLARRER
G| it A =
SRHITE I SRHIIE IR
PEHI ( 1.770  — 0.050 )X 0.950 X 22.000 = 35.948 m3
B R T B LY SREIIE PR
R#ja—7 0.504 X 0.950 X 22.000 = 10.534 m3
A TR T L FELZES R 1R IR
Rija—7 0.300 X 0.950 X 22.000 = 6.270 m3
% F10ecmET
A R T SRHIIE H IR H IR
AN 0.416 X 0.950 -( 0.216 X 0.216 X 3.14
b i I G
4 )= 0.359 0.359 X 22.000 = 7.898 m3




BT (Tl &)
~ o AR—/1No H W 2
152-3 ~ 152-4  #EHIE = 1.93 m PEHITE = 0.95 m
L
ERHEE =005 IR JEE = 19.10 m
BRER BR A4 =030 i 950 i BAEBHEAS 4em
T T 40 =— BEHGRE 2icm h — 0.964
210
550 200 K BAEYARE 30cm
1 L R RREE a = 0.664
H 1500
BRE b = 0.286
a RBD—>{ A )
h )
Bk AEM (R4 L)
T 4 REID—5 A c =
o0 Py SRR (L)
K3 4od oy AR
100 :ﬁx 1 BEYARE d = 0014
416 216 s 3 S
100 . )7 HEERE E200mm
- i BEYARBRER
Al At A 2V
PEHIE AHTEE P IR LR
PEHI (1930 - 0.050 )X 0.950 X 19.100 = 34.113 m3
o BT T L L il i iR
EEha—o 0.664 X 0.950 X 19.100 = 12.048 m3
FEAE R T LR LS SR S
EEha—o 0.286 X 0.950 X 19.100 = 5.189 m3
TR T R LS SR S
BN 0.014 X 0.950 X 19.100 = 0.254 m3
% F10ecmET
BAMAHEE T P H IR EHME BHME
BN 0.416 X 0.950 -( 0.216 X 0.216 X 3.14
i e i e LR
4 )= 0.359 0.359 X 19.100 = 6.857 m3




BELT (BB HELD)
<> 7:—/)LNo H W 3
152-4 ~ BE#156-1-1 HEEE = 2.04 m #EEIME = 0.95 m
L
mpwsncon | HHE LR = 200 m
BRER IR AEIZ t=0.68 ‘ 950 ‘ ﬁi""‘* AS 7
FHE cm
T T 7T 70# h = 0.754
420 BERARA 42cm
870 + = BAYLARE 38
380 ol Jeem a = 0.074
N v 000000) OOCA
1500 HEL
a REO—S1EF b = 0.556
" N 54+ (BRBBH)
b EBO—56R o
+ + F4+ (BB c =
d BN
5 100 | pEE BAYARE d = 0.124
416 216 i @ ; o
100 o )7 RHEEIEE E200mm
T 7 BEYARGER
G| it H =
SRITE I SRIIE HEF
P H ( 2.040 0.190 ) X 0.950 X 2.000 = 3.515 m3
BT R T B LY SR HER
REEo—7 0.074 X 0.950 X 2.000 = 0.141 m3
ZEA T L HELZES R 1R HER
FE#Ehn—7 0.556 X 0.950 X 2.000 = 1.056 m3
ZEA T L FELZES R 1R HER
208 0.124 X 0.950 X 2.000 = 0.236 m3
& F10emET
AT SRHIIE H IR H IR
28 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
o i I HEF
4 )= 0.359 0.359 X 2.000 = 0.718 m3




BT (Tl &)
~ o AR—/1No H W 4
152-4 ~ BER156-1-1 JEHIE = 2.04 m HEHIE = 0.95 m
L
ERHEE =005 IR B = 0.30 m
BEERBRAEM 1=0.30 i 950 i BAEBHEAS 4em
TOT T M= BEHFRE 2lom W = Lom4
210
550 200 K BAEYARE 30cm
1 R Gitese a = 0.774
H 1500
, BRE b = 0.176
) RBN—5{E A
Bk AEM (R4 L)
T 4 REID—5 A c =
o0 Py SRR (L)
R 4od oy A INEH
100 ia 1 BEYARE d = 012
416 216 s 3 SN
100 _ )7 HEERE E200mm
- o BEYLARRERE
Al At A =Y
PEHIE TR P H IR LR
PEHI (- 2.040 - 0.050 )X 0.950 X 0.300 = 0.567 m3
B THRT B L P i IE
Rija—7 0.774 X 0.950 X 0.300 = 0.221 m3
TR T R LS SR S
Rija—7 0.176 X 0.950 X 0.300 = 0.050 m3
TR T R LS SR S
BN 0.124 X 0.950 X 0.300 = 0.035 m3
% F10ecmET
BAMAHEE T P H IR EHME BHME
BN 0.416 X 0.950 -( 0.216 X 0.216 X 3.14
i e i T LR
4 )= 0.359 0.359 X 0.300 = 0.108 m3




BELT (FE SE—&Eh)
<> 7:—/)LNo H W 5
152-1-1 ~ 152-1-2 ¥@MIE = 1.97 m $EHIE = 0.95 m
L
) HAIE - Ex = 1960 m
RSB 010 | 050 | BLBHEAS dom
“ BAYARE 10cm
a0 | |10 HHE G BEB fem e
B+ a = 1.214
1500 ° EHO—SER
h b = 0.046
H . B IRAEH (B T)
b REO—5 A B
+ T BRERBRAEH (R4 T) ©c =
d B\
_V N
100 :ﬁx BEYARE d = 0054
416 f;g ‘ % ) J HEEIEE E200mm
- T BAYARA R
Gl it =1 =
ikl v R il T
A ( 1.970 - 0.040 ) X 0.950 X 19.600 = | 35.937 m3
W E TR T WL PR i AR
Eiin—7 1.214 X 0.950 X 19.600 = | 22.605 m3
ZEAE T L FELZES R 1R HER
Efn—7 0.046 X 0.950 X 19.600 — 0.857 m3
ZEA T L FELZES R 1R HER
LOZ8 0.054 X 0.950 X 19.600 = 1.005 m3
& F10emET
R R T i T A
78 0.416 X 0.950 —( 0.216 X 0.216 X 3.14 /
it i i i e
4 = (.359 0.359 X 19.600 = 7.036 m3




BT T (Bl AEREAE)
~ o AR—/1No H W 6
152-1-1 ~ 152-1-2 #EHIE = 1.97 m ¥EHIGE = 0.95 m
L
RRMEE 005 REIIE | IER = 26.80 m
BEERER A =025 ‘ 950 | BEFHEAS 3em
= 4 o30 = BELARE 27om
Bl h = 1.254
300 270
v . 000000 (000000
wEt a = 1.004
15003 REN—51
] b = 0.19
H - B SR kA (RET)
b EBHO—3ER B
+ 9= BRERIR MM (S 1) ©c =
d B NER
Ly 100 — jﬁf BAARR d = 0.054
416 f(‘)g s % Y7 HEEEE B200mm
- BEUAREER
Al it H =
i1 7 LI R 1R i
PEHI (1.970 - 0.050 )X 0.950 X 26.800 = 48.883 m3
e T LB VB I i
EEha—o 1.004 X 0.950 X 26.800 = 25.562 m3
FEA T RS SRR HiE
EEha—o 0.196 X 0.950 X 26.800 = 4,990 m3
FEA T 1 RS SRR HiE
BN 0.054 X 0.950 X 26.800 = 1.375 m3
% F10ecmET
AR T 1R L2 IE R
BN 0.416 X 0.950 -( 0.216 X 0.216 X 3.14
b 1 b 1 i
4 )= 0.359 0.359 X 26.800 = 9.621 m3




BELT (BB HELD)
<> 7:—/)LNo H W 7
152-1-2 ~ BE&#156-1-1 $HHIE = 2.16 m #EEIME = 0.95 m
L
mpwsncon | HHE gL = 080 m
BER IR t=0.68 ‘ 950 ‘ ﬁi”"‘* AS 7
FHE cm
T T T 70# h = 0.874
420 BERARA 42cm
870 + o BAYLARE 38
380 el seem a = 0.194
N v 000000) OOCA
1500 HEL
a RBO—5 b = 0.436
" N 54+ (BRBBH)
b REO—S6 o
+ + F4+ (BB ¢c =
d BN
X 100 | pEE BAYARE d = 0.244
416 216 i @ ; o
100 _ )7 RHEEIEE E200mm
- R BEYARALR
iRl &t B =X
SR e SR G
JEHI (2.160 - 0.190 )X 0.950 X 0.800 = 1.497 m3
BT HE TV SR IR
REhn—> 0.194 X 0.950 X 0.800 = 0.147 m3
ZEA T L HELZES R 1R HER
FE#Ehn—7 0.436 X 0.950 X 0.800 = 0.331 m3
ZEA T L FELZES R 1R HER
2228 0.244 X 0.950 X 0.800 = 0.185 m3
& F10emET
A R T SR B B
2228 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
b i Ak b i A HEF
4 )= 0.359 0.359 X 0.800 = 0.287 m3




BT (Rl )
<" —/)LNo H W 8
152-1-2 ~ BERR156-1-1 JRHIIE = 2.16 m ¥EHIE = 0.95 m
L
BRATRIE =020 {EHlE iR = 080 m
BRBRT =067 } 950 i
BAZHEAS Tocm
i Tt h = 0.874
BEHNRBRA 42cm
870 L BEYARE 38
380 xih ovom a = 0.204
m Y W W
1500 HET
a EEHO—5H b = 0.426
" 4 S5+ (BRIAEH)
b REO—S6 o
L 4+ FAET (BB ¢c =
d AV NER
- A
100 oosed BEYLARR d = 0.244
416 216 i @ e ey
100 o ) JHEEEE &200mm
- N BAEARGER
Al it A =Y
1 7 e S8 1 IR
PEHI (- 2.160 - 0.200 )X 0.950 X 0.800 = 1.490 m3
wE R T L FELZES R 1R IR
Rija—7 0.204 X 0.950 X 0.800 = 0.155 m3
A TR T L HELZES R 1R IR
REEa—7 0.426 X 0.950 X 0.800 = 0.324 m3
AR T L FELZES R 1R IR
BN 0.244 X 0.950 X 0.800 = 0.185 m3
% F10ecmET
BAAE R T 1R R AR
BN 0.416 X 0.950 -( 0.216 X 0.216 X 3.14
b 1 b 1 IR
4 )= 0.359 0.359 X 0.800 = 0.287 m3




BT (RaE AE )

<> 7:—/)LNo H W 9
152-1-2 ~ BERR156-1-1 EEIE = 2.16 m JENIME = 0.95 m
L
i FE = 1.70 m
o o FAIE B dor
Rl o1 | 950 | BEEHMEAS dom
10 BEMAREA 10cm
T | T BED 10cm h = 1.504
3 100 )
1500 ] wEt a = 1.260
1260 REN—SH A
h b =
o + Bt
c A NER . 0.144
- BRIRAH (R4 1) c = .
d AV NER
V. _\
100 :gf‘ BEYARE d = 0.100
416 f(‘)g 5 @ﬁ YT HEEIEE B200mm
- T B ARE R
Gl it A =y
e i e i i
HEH (2.160 - 0.040 )X 0.950 X 1.700 = 3.424 m3
o B T BB L TR S I
RE#Ehn—7 1.260 X 0.950 X 1.700 = 2.035 m3
o BT T BB L TES S I
V2 0.144 X 0.950 X 1.700 = 0.233 m3
FEA R T L HELZES 1R HER
G2 0.100 X 0.950 X 1.700 = 0.162 m3
& F10emET
BAMAHET S AR AR
G2 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
7 1 7 1 iE
4 = 0.359 0.359 X 1.700 = 0.610 m3




BT (BaE AE ik

~ 2 7—/VNo H W 10
152-2-1 ~ 152-2-2 #WHIE = 1.78 m JEHIE 0.95 m
L
o wiim i 11.20
gt B memmms o "
N | |/ BEYARE 10om
240 | 1004 ) 10cm h = 1.124
y 100
N
BBt a = 1.024
REO—SER
) a b = 0.100
H
- BRRMEH (R4 T) c =
b REBO—5%A
L BEYARE d =
416 | 216 i @ Sy e
100 o I HEEIEE &200mm
S BAYARTERR
Gl it A =
e i e i i
I ( 1.780 - 0.040 ) X 0.950 X 11.200 = 18.514 m3
o BT T B s i i
E#a— 1.024 X 0.950 X 11.200 = 10.895 m3
ZEAE T MRS i 1 HER
E#n—7 0.100 X 0.950 X 11.200 = 1.064 m3
& F10emET
AR T S AR EYC
G2 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
7 1 7 1 R
4 )= 0.359 0.359 X 11.200 = 4.021 m3




Par:

BRET (RiE AERA

N
AVA
H

~ o AR—/1No H W 11
152-2-1 ~ 152-2-2 JEHIE = 1.78 m $ENIE = 0.95 m
L
e MR = 6.80 m
RABEE =0, RN .
At | 950 | BEBHEAS Jom
T 80 o BEYARE 27om h = 1.064
00120 | oy it
Eﬂﬂi a = 0.814
a RBO—56H
i b = 0.250
H
D BRERBRAM (R4 T) ¢ =
b REBO—56H
100 - el
: BAYARE d =
ol =S
416 fégLﬁ Q\g I HERIEE E200mm
- BAYAR AR
Gl it =1 =
i e R i i R
1) ( 1.780 - 0.050 )X 0.950 X 6.800 = 11.176 m3
WETHEET B s il I
E#a—7 0.814 X 0.950 X 6.800 = 5.258 m3
A TR T L HELZES R 1R IR
E#n—7 0.250 X 0.950 X 6.800 — 1.615 m3
% F10ecmET
AR T S i AR A
G2 0.416 X 0.950 —( 0.216 X 0.216 X 3.14 /
7 1 7 1 R
4 )= 0.359 0.359 X 6.800 — 2.441 m3




BELT (BB HELD)
~ o AR—/1No H W 12
152-2-2 ~ BER%156-1-1 #HIE = 1.81 m #EHIE = 0.95 m
L
BRMLE =019 FEEINE | JERE = 190 m
ELEA T 068 | 950 | BAFHEAS Tom
o o 70L
3 h = 0.524
420 BAHIRE 42cm
870 Gt eesses \
BAEYARE 38cm B
380 a ==
A 555 essses
h = 0.524
A I B A (R L)
EEHN—5F
C p—
100 i BEYARE i =
416 12;2 5 ©\g§ I HEEEE B200mm
o N BEYLARRER
Rl At A =Y
S AR SR A
P H ( 1.810 - 0.190 ) X 0.950 X 1.900 = 2.924 m3
A TR T L HELZES R 1R IR
E#hn—7 0.524 X 0.950 X 1.900 = 0.946 m3
% F10ecmET
ARG T SRR IR E R
BN 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
b i b i A
4 )= 0.359 0.359 X 1.900 = 0.682 m3




BIRLET (ol HEE)
~ 2 7—/VNo H W 13
152-2-2 ~ BEs%156-1-1 #EHIE = 1.81 m #EHIE = 0.95 m
L
HWRATEE =020 EHIE IEE = 0.80 m
BEERIRIEE t=067 ‘ 950 BABHKEAS Tom
L 70L
X h = 0.524
420 BAMARR 42cm
870 J 000000 W .
BAEYARE 38cm -
380 a =
v J 000000] (080000
b = 0.524
A I BB RAMH (2 1)
R0 —5EH
C p—
v v
100 ool BEYARE d —
416 | 216 i @ SRS
K 100 . ) Y E mt gZOOmm
- R BEYARRER
il =
I HIRIE i SER
P H ( 1.810 - 0.200 )X 0.950 X 0.800 = 1.224 m3
AR T 1R TS SR I
REEa—7 0.524 X 0.950 X 0.800 = 0.398 m3
% F10ecmET
BAMAHEE T P H IR EHME EAME
RN 0.416 X 0.950 -( 0.216 X 0.216 X 3.14
W T A o T A IS
4 )= 0.359 0.359 X 0.800 = 0.287 m3




BT (RiE AERAR)

~ 2 7—/VNo H W 13
152-2-2 ~ BEE156-1-1 HEMIE = 1.81 m #EEIME = 0.95 m
L
i EE = 0.60 m
RFEE -0, HEHI1E .
ﬁﬁmgtggg i 950 i BEEMEAS 3om
T 30— BEYARE 27em o= 1.094
300 v 27077 000000 W
E&Ei a = 0.844
a ﬁ@]u—ﬂﬁﬁﬁ
) b = 0.250
H
D B (A1) ¢ =
b EBHO—F
v v
100 sial BEARE d =
;‘;%" == PN e I
416 fégLi @315;% Y7 HEEEE E200mm
. . BEYARGER
Bl &t A =
SR i SR IR
JEHI ( 1.810 — 0.050 )X 0.950 X 0.600 = 1.003 m3
BT HE TV SR HER
REhn—> 0.844 X 0.950 X 0.600 = 0.481 m3
A TR T L HELZES R 1R IR
REhn—> 0.250 X 0.950 X 0.600 = 0.143 m3
% F10ecmET
A R T SR B B
28 0.416 X 0.950 —( 0.216 X 0.216 X 3.14
b I G
4 )= 0.359 0.359 X 0.600 = 0.215 m3




R LR

AEESR T oy (BT (FaE)

No.1
Mg =0.95m
800
100, 200, 500 SEEERTOYY
aFIF(F59h)
20 - — avoy—=+
50 4
200 291
150
, 1f& Bz
i 7 = =\
HIRE L
=) — MEEEE | (0.80 X0.20+0.20 X 0.02) X 0.95 = 0.156 0.16 nf
HIRE L
CoflL 5y (e f5) EN= 0.16 mi

0.16 X 2.35 = 0.376 0.38 t




MEOHE Kk B OB B — BOX NO. 1
(¢ 100 mm b = B 10 mm
& ~ ZE]L oA mj G i Tja: i g + T - . S + 1
o Hl X u w — + kE'. 1 & ? IH
| & |mm Bl ow | om | Te g | W] WA RRL ] Ge | e B
| ¥ plE; & L Bk | B A P EEY | L H %R | ihEsikE | Fe BTN
& VU pIs H Sk zgﬁ woE | o oE | E E A | BEEE IR B OB | K OR | RIEIR | DIBER &
x& 1] o 0.28mi | 0.28nd Py G i (B-20)-36| (B-30) 51 4 t=15cm
a2 L R RS & B E [Bxse] ma 2 | () () () (1) 5 £
NO. NO. m m m m m m m m m m m m m m m m m m m
No.1 0.52 8.20 | (0. 40) (0. 041) (0. 40) (0.40) [mEg+2 R
152 No.2 0.53 | 0.53 | 8.20 8.20 | 0.50 7.70 1.57 0. 34 0.34 3. 28 3. 28 16. 40 1.5
No.2 0.53 7.40 | (0. 40) (0. 041) (0. 40) (0.40) |urgs2 R
152 No.3 0.53 | 0.53 | 7.40 7.40 | 0.50 6. 90 1.42 0. 30 0. 30 2.96 2.96 14. 80 1.5
No.3 0.53 22.70 | (0. 40) (0. 049) (0. 40) (0.40) |urgs2 R
152 |meaxgekpt| 0.57 | 0.55 |22.70 22.70 | 0.15 22.55 4,54 1.11 1. 11 9. 08 9.08 45. 40 1.5
No.3 0.63 2. 00 (0.92) | (0.06) (0.92) | (0.92) [smgx-2 R
152 |meaxsekpt| 0.67 | 0.65 2.00 | 2.00 | 0.00 2. 00 1. 10 0.12 0.12 1.84 1.84 4. 00 1.5
40. 30
1.5m| HRAEEL 38.30[ 2.00| 40.3 1.15 39. 15 7.53 .10 0.12 1.75 | 1.87 15. 32 1.84] 17.16 | 80.60 TR
R1E: AR
2.0m| 7 v 2 Bl 2. Om
R1E AR
2.5m| 7 v 2 B 2.5m
R AR
2.5m| 7 v I K 2. 5m
A=|  8.63 il ] 8 2 5cm ahtEnme | ASERE e
E=| 0.12 [g=1.11|ExB =e A-e
e= 0.13 0.86m 17.16m| 0.86m 7.40m
40.3m| Al A2 El Hh
7 A& FIT 38.3m| 2.0m| 40.3m| 1.2m 39.2m| 7.53m| 1.1md| O.12nd| 1.75n| 1.87m 15.32nf| 1.84nf| 17. 16ni| 80.60m




EERET (A EREH ST

4
No.l ~

H

No.2  PEHEIE = 053 m HEHIE = 0.40 m

JIER = 8.20 m

BRSEE =005 R AINS h = 0130
BRER AR =7RER "
400 BAZHETAIY 4em
o o 40¢L .
160T BHERHFERA 16cm
H 200 BEYARA 20cm
o BER
h
1207 .
- e EEEVP100mm
| i B FaV
B vE T Bl fidd
HEH (_0.530 - 0.050 )X 0.400 X _8.200 = 1.574 m3
EEY
BARE R T iR e Eh R
2N 0.130 X _0.400 —( _0.120 X 0.120 X 3.14

L
X _8.200 = 0.336 m3




EERET (A EREH ST

4
No2 ~

H

No.3  PEHEIE = 053 m HEHIE = 0.40 m

ER = 740 m

BRSEE =005 R AINS h = 0130
BRER AR =7RER "
400 BAZHETAIY 4em
o o 40¢L .
160T BHERHFERA 16cm
H 200 BEYARA 20cm
o BER
h
1207 .
- e EEEVP100mm
| i B FaV
B vE T Bl fidd
HEH (_0.530 - 0.050 )X 0.400 X 7.400 = 1.421 m3
EEY
BARE R T iR e Eh R
2N 0.130 X _0.400 —( _0.120 X 0.120 X 3.14

L
X __7.400 = 0.303 m3




BT (B B%iIBE shiEE)
Hh 5 4 H N 3
No.3 ~ BERREEAME HEENE = 055 m #EEIE = 040 m
L
JER = 2270 m
BRSEE =005 R AINS h =  0.150
BRERBREEM =7 BR \
400 BAZHETAIY 4em
o o 40¢L )
160T BHERHFERA 16cm
H 200 BEUARA 20cm
R .
) ,
1207 .
- s EEEVP100mm
i Bl it H =
ST AR SRR i £
P (__0.550 = 0.050 )X 0.400 X 22.700 = 4.540 m3
B
BARE R T SR e Eh R
BN 0.150 X 0.400 -( _0.120 X 0.120 X 3.14
U T b A [
4 )= 0.049 0.049 X 22.700 = 1.112 m3




BRLET (FEE &)

Hh A 4 H W 4
No.3 ~ BERREEAM JEENE = 065 m #EHIME = 092 m
L

JIER = 2.00 m

BRSETE 120,05 TRHEINS h = 0.100
BRERBRAEM =B
920 BEBRHET AL 4em
N N 4@L _
N BHERNERA 21om
550 210
H 4 s S BHEYBARE 30cm
320
300 a41)—hE&t=10cm
100 J
L 44158%88%88 O 18 EEVP100mm
HET
Bl it A =
T rH i i EE
SEll (__0.650 - 0.050 )X 0.920 X_ 2.000 = 1.104 m3
TR SR e IR
LN 0.100 X ( 0.920 0.320 )X 2.000 = 0.120 m3




HokprE R R E

gL—

FUUE

(T25-#18 - / R T

100 K N
400 - ARIL M - SHET)
T &1
cg) 300 !‘JD_O—’! V‘S_O_Oﬂ BATHEAS
7 7] H A SR
|
: o
o | =
S I 7 st
P
| d g
O] S
+— S SGIFEL NG
= | 700 |
S I 1
o avyy—=+h HRA
X (ETH)
\7s Y, b/ Y,
THEK b7 T R
g S| B =1 =
BRI HREET00 X 700 (U400 X 400) . EE800 1 E
=P TVL—F L7 T25 FH, SV A7 RV NGRS SEL 1 40
Effbars)—h 0.40 X _0.40 X _0.10 = 0.016 0.02 m3
FEREAE A 0.70 X __0.70 X 0.10 = 0.049 0.05 m3
JEAHEIE 0.70 X __0.70 = 0.490 0.49 m2
S AR A 1.30 X 1.00 - 130 X 0.0 = 0.780 0.78 m2
1307 X700 X TT0.90
SR - 040 X 1.30 X 0.48 = 0.920 0.92 m3
o 13077100 ETT070TXTT0.70TY X050
PR 0,30 X 040 X 2 X 0.13 = 0.374 0.37 m3
1307 X700 070 X070
T3 s A%1=20cm - 030 X 040 X 2 = 0.570 0.57 m2
e AR t=16cm ERICFEL = _0.570 0.57 m2
AstizEt=4cm EICFEID = 0.570 0.57 m2
ey 0.920 - 0.374 = 0.546 0.55 m3
AsiBOERALEE 0.780 X 0.05 = 0.039 0.04 m3




KPS R E

100

00

BX Sk ¥

T =
1Ebiy

Bl i =1 =

BRI (070 X _0.70 - 040 X _ 0.0 )X 0.40 = 0.13 m3

0.130 X 2.45 = 0.319 0.32 t




<
2

N fL 7 B 7 (¥5F)
JEE A )
A A U S 2 {Eﬁ B oo | | A # 1
L L # | WEEE |wey o s|purays| 7 H OB 7 v oy 7 Wk 7y 7 B g | B /[\ f
bR TR 3 I T R %
* 7S L = 60cm x60en| 7 T Uj it i S
mEmI|REE|mS | mIm I mS | ms | mSm I m S| mSm S| m S| ES] & e
k52 x G| B cm| cm| cm em| cm{m | m | m| m| m m|m| m| m| m]| cm F ¢ 125 7 EX)
X 25 45 [10 |15 |45 [60 [15 ]10.3]0.6/0.9[1.2]/1.5]1.8[0.6[0.9[/1.2]1.5]1.8] 17 | JE 6200
m | fpT| A AHO| AE [ R ) | ) | ] [ A ) ] fE | fE | E ) S| fE | ] 8| {8 ] m 18 [ mm m EIEIREYAOES"
(1) ¢ 126mffl T
152-2 1.58 0 1 1 1 1 1 1 0 1 ¢ 200mmfH O &AL
(2) ¢ 125mm [ f&AT
152-3 1.75 1 1 1 1 1 1 1 0 2 ¢ 200mmfH 1 fEPT
1) ¢ 126mnfll &Y
152-1-1 1. 69 0 1 1 1 1 1 1 0 1 ¢ 200mmfH O f&FT
) ¢ 126mnfll  FEPT
152-2-1 1. 64 0 1 1 1 1 1 1 0 1 ¢ 200mmfH O fHFT
o 125mmMH  ET
¢ 200mm/f] 0 fHFT
¢ 125 0
$»200 5
(5) ¢ 125mmfH 0 @EpT
& & 1 2 2 2 2 2 0 0 0 0 0 0 0 0 2 2 0 0 4 0 0 0 5 ¢ 200mmAH 1 fEFT




HH AA VI /) it 7 B = (¢ 300)
[75K%]
A A - ] & & = fii
v i
i L T #* Wi HEpE ()
“ 5 i
& 7% o % 5 A 23— |k NAUEH
T FEpy el G| TE =
= = h=2. onfd| 72 e JEE 90° HO. 6{HO. 9|H1. 2|H1. 5{H2. 0|H2. 5|H3. 0 & 200 & 200 & 200 E
h=2. 0L T | ~3. 5l F T-14] T-25 KT | ST |15° [30° [45° [60° |75° |90° | WLS| DR [ MVU | MVU | MvU | MVU | MVU | MVU [ MVU [90ST| VU | CAP
m o | e | HH ] [ R\ ] fE [ [ ) [ [ ] fE [ ] {8 m | A
1524 1.88 1 1 1 1 1 1 1
152-1-2 | 2.02 1 1 1 1 1 1 1
152-2-2 | 1.69 1 1 1 1 1 1 1
B 2 1 3 3 2 1 3 0| 0] 2 1 olojloflololo]ofo] ofo2 1 ol o] o] ol o




T L A L F B 7 (1%)
O N R A i o Tl m 5 i
oo % | WEER |wwo o Ameroo| 5| w7 oa o s | mkTe s |E|p | 8|S
R TR T I %
* 7S L = 60cm x60en| 7 T Uj it i S
mEmI|REE|mS | mIm I mS | ms | mSm I m S| mSm S| m S| ES] & I
k52 x G| B cm| cm| cm em| cm{m | m | m| m| m m|m|m| m|m|cn F 6125 7= E:
X 25 45 [10 |15 |45 [60 [15 ]10.3]0.6/0.9[1.2]/1.5]1.8[0.6[0.9[/1.2]1.5]1.8] 17 | JE $ 200
m | GEPT AH | AH [ RH ) | fE | [ s | R ) ] [ A ) A | E ) | fE | fE ) 8| fE | | m 8 | mm m EIEIREYAOES"
(3) WRIE ¢ 150 ¢ 126mfl T
WER%156-1-1 3. 78 3 3 H=1. 80m ¢ 200mmff 3 T
H=1. 70m
H=2. 07m
125 0
$200 3
(3) ¢ 1256mnl] O f&pT
& & 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 3 ¢ 200mm/H 3 fE AT




HH AA VI /) it 7 B = (¢ 300)
[HEBEKE]
A A - ] & & = fii
v i
i L T #* Wi HEpE ()
» BN i
& 7% o % 5 A L X— | NAUEH
T FEpy el G| TE =
= = h=2. onfd| 72 e JEE 90° HO. 6{HO. 9|H1. 2|H1. 5{H2. 0|H2. 5|H3. 0 & 200 & 200 & 200 E
h=2. 0L T | ~3. 5l F T-14| T-25 KT | ST |15° [30° [45° [60° |75° |90° | WLS| DR [ MVU | MVU | MvU | MVU | MVU | MVU [ MVU [90ST| VU | CAP
m o | e | HH ] [ R\ ] fE [ [ ) [ [ ] fE [ ] {8 m | A
No.1 0.51 1 1 1 1 1 1 1
No.3 0.52 1 1 1 1 1 1 1
B 2 0 2 2 0 2 2 1 0| 1 ololololololo]l2alololo]o|lo]o]o]olo




AE DR ¢ 200mm  HUAHE DT ¢ 125mm (VU) THKEUHE —E R NO. 1
B 4 B IH
(=g12 ANFL | BAREE | IEKEE | BEEIT | R |wvdrA | XE [EX=e A *ry7 (B-30) =51, —4
s &5 Z5 | IHIGE (m) (m) |wesxm| (SHR) (PE) (ST) (Ca) TR | iR i ik 1 C2)
(A90) (30" ) (m) (m) (m) (m)
152-2 TE
152 152-3 1 1. 00 0. 65 2.3 JRE] 2.3 1A 1A 1.53 3. 06 0.75| 1.15 |#%3EH
152-2 e
152 152-3 2 1. 00 0. 65 2.3 JRE] 2.3 1A A 1.53 3. 06 0.75] 1.15 |#%3EH
152-2 e
152 152-3 3 1. 00 0. 65 2.3 1 2.3 & & 1.53 3. 06 0.75| 1.15 |#%iB
152-3 e
152 152-4 4 1. 00 0. 65 2.3 JRE] 2.3 1A 1A 1.53 3. 06 0.75] 1.15 |#%3EH
152-3 TE
152 152-4 5 1. 00 0. 65 2.3 JRE] 2.3 1A 1A 1.53 3. 06 0.75] 1.15 |#%3EH
162-1-1 =] s A
152-1 | 152-1-2 6 1. 00 0. 65 1.4 1{E .4l 1@ & 0. 00 0. 00 0.75| 0.00 [HaEzEA
162-1-1 =8 s A
152-1 | 152-1-2 7 1.00 0. 65 1.4 JRE] 1.4 1A JR[E] 0. 00 0. 00 0.75] 0.00 |ZEFEA
152-1-1 2855 s A
152-1 | 152-1-2 8 1.00 0. 65 1.4 JRE] 1.4 1A JR[E] 0. 00 0. 00 0.750 0.00 |l
152-1-1 2855 s A
152-1 | 152-1-2 9 1.00 0. 65 1.4 JRE] 1.4 1A JRE] 0. 00 0. 00 0.75] 0.00 |BEFEA
152-1-1 T8 T
152-1 | 152-1-2 10 1.00 0. 65 1.4 JRE] 1.4 1A 1A 0. 00 0. 00 0.750 0.00 |l —x
152-2-1 2815 s A
152-2 | 152-2-2 11 1.00 0. 65 1.4 JRE] 1.4 1A A 0. 00 0. 00 0.750 0.00 |HE—i%
T A A 5.75m
FSEMRGE - 0.00m
PNVE
4.72 m
MR 2.71 [WhHEER
HIREGE  0.00 2.7 m
e %t
%3830 56ipr|  1.00m|  0.65m| 11.50m oA 5| 11.5m 51 5| 7.65m| 15.30m 5.75m| 4.72 nof
T H—
13 AR5 6577 1.00m|  0.65m| 8. 40m ] 6 8. 4m 61 6| 0.00m| 0.00m 0.00m| 15.30 m
S | SEEm AE IR |ASHY
2 116597  1.00m| 0.65m| 19.9m 01 11#E]  19.9m 114# 11{#| 7.65m| 15.30m 5.75m| 0.29 m




TN

ToAs

FH Al it G = 1
shEd el FEE3 FHEE4 FEES
P P 3 2 1 3 5 14 &5
PP L
B AL RO W
As t=15cm 9.60 6.40 4.60 9.60 16.00 46.20 46.2 m
SlAERREEL T.| 1.92 1.28 1.20 1.92 3.20 9.52 9.5 m2
PR (B%) 1.26 0.20 1.02 1.83 3.05 7.36 7.4 m3
HEEI(AS) 0.96 0.38 0.36 0.57 0.95 3.22 3.2 m3
P
(D) 1.53 0.12 0.96 2.04 3.20 7.85 7.9 m3
TREIKBAET t=20
(FAELARERA) | 1.92 1.28 1.20 4.40 4.4 m2
BT t=15
(ki A) | 1.92 1.28 1.20 4.40 4.4 m2
EHAEER t=5
*JE T 1.92 1.28 1.20 3.20 7.60 7.6 m2
BRAZT t=10
(FRA=O)iAEA) 1.92 1.92 1.9 m2
T4V H—JE t=10
(FAERD) 1.92 1.92 1.9 m2
EHAEES 1=4
FE L 1.92 1.92 1.9 m2
BRAZ T t=25
(FRA=O0AREA) 3.20 3.20 3.2 m2




3P L B E
| & L = 2
ShEE] MEE2 O FMEE3 O EEE4 FEES
A 5 AT 3 + 2 + 1 + 3 4+ 5 14 &
ST
T 7R AL
AsHT 0.09 + 0.06 + 0.06 + 0.09 + 0.15 0.45 0.5 m3
FEA A JLBE 222 + 058 + 1.38 + 240 + 4.00 10.58 10.6 m3




N

1l g T = 1

A (5 FTA ik KB AR KE 3 HET
L T4 720

ST [= 0.80 m W= 0.80 m H= 1.20 m

B AE R W

As t=15cm ( 0.80 + 0.80 )X 2 = 3.20 3.20 m

HOEEERBUEL T 0.80 X 0.80 = 0.64 0.64 m2

AsHi%E e

PR (Htk) 0.80 X 0.80 X( 0.70 - 0.05 )= 0.42 0.42 m3

el IONA)) 0.80 X 0.80 X 0.50 = (.32 0.32 m3

WERL B+ AsEiHE R

(B D) 0.80 X 0.80 xX( 1.20 - 0.40 )= 0.51 0.51 m3

‘FE%I t=20cm

(FE DA RAT) 0.80 X 0.80 = 0.64 0.64 m2

J:)%%I t=15cm

(EARL M) 0.80 X 0.80 = 0.64 0.64 m2

S A t=5cm

FE L 0.80 X 0.80 = 0.64 0.64 m2

T 7 E R AL t=bcm

AsHT 0.64 X 0.05 = 0.03 0.03 m3

Bk NS
FEA LB 0.42 + 0.32 = 0.74 0.74 m3




AP L OEF A E
i & L = 2

P 5 T8 B D ANFL L A 2 &P

L T4 720
ST [= 0.80 m W= 0.80 m H= 0.50 m
B AE R W
As t=15cm ( 0.80 + 0.80 )X 2 = 3.20 3.20 m
HE T AUTUEL T 0.80 X 0.80 = 0.64 0.64 m2

AsHi%E e
PR (Htk) 0.80 X 0.80 xX( 0.20 - 0.05 )= 0.10 0.10 m3
el IONA)) 0.80 X 0.80 X 0.30 = 0.19 0.19 m3
WEREL PR+ A s B
(B D) 0.80 X 0.80 X( 050 - 0.40 )= 0.06 0.06 m3
‘FE%I t=20cm
(FE DA RAT) 0.80 X 0.80 = 0.64 0.64 m2
J:)%%I t=15cm
(EARL M) 0.80 X 0.80 = 0.64 0.64 m2
S A t=5cm
FE L 0.80 X 0.80 = 0.64 0.64 m2
T 7 E R AL t=bcm
AsHT 0.64 X 0.05 = 0.03 0.03 m3
Bk A7

FEA LB 0.10 + 0.19 = (.29 0.29 m3




N

] 5 L = 3

I % T C B D VI SCHNEE. S 1 f&5Fr
L T4 720

ST [= 1.50 m W= 0.80 m H= 1.20 m

B AE R W

As t=15cm ( 1.50 + 0.80 )X 2 = 4.60 4,60 m

HOEEERBUEL T 1.50 X 0.80 = 1.20 1.20 m2

AsHi%E e

PR (Htk) 1.50 X 0.80 X( 090 - 0.05 )= 1.02 1.02 m3

el IONA)) 1.50 X 0.80 X 0.30 = 0.36 0.36 m3

WEREL PR+ A s B

(M5 D) 1.50 X 0.80 X( 1.20 - 0.40 )= 0.96 0.96 m3

‘FE%I t=20cm

(FE DA RAT) 1.50 X 0.80 = 1.20 1.20 m2

J:)%%I t=15cm

(EARL M) 1.50 X 0.80 = 1.20 1.20 m2

S A t=5cm

FE L 1.50 X 0.80 = 1.20 1.20 m2

T 7 E R AL t=bcm

AsHT 1.20 X 0.05 = 0.06 0.06 m3

Bk NS
FEA LB 1.02 + 0.36 = 1.38 1.38 m3
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B AE R W
As t=15cm ( 0.80 + 0.80 )X 2 = 3.20 3.20 m
HEEERBUEL T 0.80 X 0.80 = 0.64 0.64 m2

AsHi%E e
PR (Htk) 0.80 X 0.80 xX( 1.00 - 0.04 )= 0.61 0.61 m3
el IONA)) 0.80 X 0.80 X 0.30 = 0.19 0.19 m3
WEREL PR+ A s B
(M5 D) 0.80 X 0.80 X( 1.30 - 0.24 )= 0.68 0.68 m3
%I t=10cm
(FE DA RAT) 0.80 X 0.80 = 0.64 0.64 m2
7/]'/1/5‘—)% t=10cm
(FAERD) 0.80 X 0.80 = 0.64 0.64 m2
S A t=4cm
FE L 0.80 X 0.80 = 0.64 0.64 m2
T 7 E R AL t=4cm
AsHT 0.64 X 0.04 = 0.03 0.03 m3
Bk NS

FEA LB 0.61 + 0.19 = (.80 0.80 m3
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L T4 720
ST [= 0.80 m W= 0.80 m H= 1.30 m
B AE R W
As t=15cm ( 0.80 + 0.80 )X 2 = 3.20 3.20 m
HEEERBUEL T 0.80 X 0.80 = 0.64 0.64 m2

AsHi%E e
PR (Htk) 0.80 X 0.80 xX( 1.00 - 0.05 )= 0.61 0.61 m3
el IONA)) 0.80 X 0.80 X 0.30 = 0.19 0.19 m3
WEREL PR+ A s B
(M5 D) 0.80 X 0.80 xX( 1.30 - 0.30 )= 0.64 0.64 m3
%I t=25cm
(FE DA RAT) 0.80 X 0.80 = 0.64 0.64 m2
S A t=5cm
FE 1L 0.80 X 0.80 = 0.64 0.64 m2
T 7 R AL t=bcm
AsHT 0.64 X 0.05 = 0.03 0.03 m3
Bk NS

FEA LB 0.61 + 0.19 = (.80 0.80 m3
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